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Four choicesaregiven for each of thefollowing questions/incomplete statements.
Choosethemost appropriateanswer and shadethealphabet of the correct answer
in the OMR answer sheet given to you with a black / blue ball point pen.

[40 x 1 = 40]
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The disadvantage of an integral frame chassisis
A)  less cost

B) less dead weight of vehicle

C) stability for fast moving vehicle

D) difficult to repair

Ans: (D) difficult to repair
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Engine capacity refersto

A) the diameter of the cylinder

B)  sweptvolume

e

C) the total piston displacement
D) the volume of the cylinder above the piston when it is in the top dead centre
Ans: (C) the total piston displacement
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One of the properties of a good lubricant among the following is
A)  chemically highly reactive

B)  very high viscosity index

C) low pour point

D) low flash point

Ans: (C) low pour point
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The liquid used to cool the engineis

A)  animaloil B)  ethylene glycol
C) grease D) castor oil

Ans: (B) ethylene glycol
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The instrument used to create cylindrical holesis
A)  snips B)  drillbit
C) hammer D)  chisel

Ans: (B) drillbit
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The substance that absorbs heat when the temperature of the engine

Increases is
A)  coolent B)  lubricant
C) fuel D) oil

Ans: (A) coolent
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The tendency of a vehicle to divein itsfront on application of brakeis
A) rolling B)  yawing

C) bottoming D) dipping

Ans: (D) dipping
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One of the disadvantages of hypoid gearsis

A)  more ground clearance B) less expensive
C) less ground clearance D) easy to assemble
Ans: (C) less ground clearance
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The innovation that help to maintain control while stopping the vehicleis
A) antilock brakes B)  air bags

C) navigation system D) keyfobes

Ans: (A) antilock brakes
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The relationship between Current (l) Voltage (V) and resistance (R) is

I R
R I
C) V=IR D) V=IR

Ans: (C) V=IR
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Which of the following isNOT a component of cooling system in a vehicle?
A) Radiator B)  Distributor

C) Thermostat D) Freeze plugs
Ans: (B) Distributor

NTRL BDAN magpm mwzsﬁceﬁ e
A) T A IT B) =RocdeeRd @ ST
C) oor @ JT D) Q&I A ST
I3 : (C) don' @ JT°

The type of spanner in which both the ends are closed is

A)  box spanner B)  combination spanner
C) ringspanner D)  wheelnut spanner

Ans: (C) ring spanner
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The parts of fileare

A)  handle, frame, blade, adjusting wing nut

B)  head, wooden handle

C) tang, heel, face, edge, tip

D) blade, sharp edge, handle

Ans: (C) tang, heel, face, edge, tip
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The tool used for lubrication purposeis
A)  drill bit B)  chisel

C) plier D) grease gun

Ans: (D) grease gun
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Observe the analogy and answer.
Multimeter : Volt Ohm meter :: Screwgauge :

A)  Micrometer B)  Ammeter

C) Hydrometer D) Tachometer

Ans: (A) Micrometer
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96) B TTFEIRT® (FHP), ¥e3° TTrI=o® (BHP) =3 voRdetdn® Toxs
XS (IHP) nenTes Dowoy

A)  FHP =IHP + BHP B) FHP = IHP — BHP
IHP

C) FHP=—— D) FHP =IHP x BHP
BHP

033 : (B) FHP = IHP - BHP

Therelationship between Friction Hor se Power (FHP), Brake Hor se Power
(BHP) and Indicated Horse Power (IHP) is

A) FHP =1HP + BHP B) FHP =IHP - BHP
IHP
C FHP = —— D) FHP =IHP x BHP
) BHP )

Ans: (B)  FHP =IHP — BHP
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I dentify the group of special toolsin the following
A)  Mallet, spanner, wheel wrench
B)  Multimeter, Hydrometer, Screwgauge
C) Benchvice, Pneumatic Wrench, Hand Hacksaw
D)  Socket wrench, Piston slide base, Driver outer

Ans: (D) Socket wrench, Piston slide base, Driver outer
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The equipment that helpsto lift the automobile and to carry out the work
under the chassisis
A)  Wheel balancer B)  Two post lift
C) Air compressor D)  Pneumatic wrench
Ans: (B) Two post lift

99) #$R 3RYTOHT #¥ZTQ SRCOITHT LVTFTEOTTY, HTrSR

A) BT B) &
C) oo FF D) 3
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| dentify the instrument shown in the given figure

A)  Plier B)  Punch
C) Benchvice D) Flywheel puller
Ans: (C) Bench vice
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The material used to wipe the roof of the car while washing the car is
A)  paper B)  sponge

C) tissue paper D) plastic brush

Ans: (B) sponge
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The correct way of parking while changing the oil in a car is

A)  Car should be on a level surface with hand brake on and engine off

B)  Car should be on a slope with hand brake on and engine on

C)  Carshould be on a level surface with hand brake on and engine on

D)  Car should be on a level surface with hand brake off and engine off

Ans: (A) Car should be on a level surface with hand brake on and engine off
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The tool required while changing the oil and oil filter in acar is
A)  Mallet B)  Drain plug socket wrench
C) Pneumatic wrench D)  Snips

Ans : (B) Drain plug socket wrench
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A) & 50,000 s.e0¢. 7t B) @& 20,000 3.cwe. &
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WET : (A) B& 50,000 3.&0e. 7

The air filter of a vehicle should be changed for every

A) 50,000 Km B) 20,000 Km

C) 10,000 Km D) 5,000 Km

Ans: (A) 50,000 Km

T0ORQ 3RS0’ FEE BYRTT
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If thereis no coolant system in the car then

A)  engine cools quickly

B)  the speed of the engine increases

C) engine starts quickly

D) the temperature of the engine increases

Ans: (D) the temperature of the engine increases
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The clogged fud filter in an automobile
A)  makes more fuel to flow inside the cylinder
B) allows more air to enter into the engine
C) reduces the fuel pressure

D) increases the fuel pressure

Ans: (C) reduces the fuel pressure
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The property of an ideal coolant is
A)  high heat capacity B)  high viscosity
C) toxic D) expensive

Ans: (A) high heat capacity
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The positive body language of an automobile sales person is
A)  over talking with customers
B) eye contact with the customers
C) frowned face
D) looking at the wall during conversation

Ans: (B) eye contact with the customers
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A series of activities designed to enhance the level of customer satisfaction

IS
A)  Customer support B)  Customer satisfaction
C) Customer communication D)  Customer service

Ans: (D) Customer service
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The model that introduced ABS system for the first timeis

A) BMW B)  Mercedes Benz

C) Audi D) Honda City

Ans: (B) Mercedes Benz
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Theinnovation related to automobile that helps usto reach our destination

IS
A)  airbags B) key fobs
C) electronic stability system D) navigation system

Ans: (D) navigation system
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Aninstrument that can be used to measur ethethickness of a coin accur ately

IS
A)  Steelruler B)  Caliperse
C) Tape D)  Screw gauge

Ans: (D) Screw gauge
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Observe the analogy and answer

Vegetableail : liquid lubricant :: molybdenum disulphide:

A)  Emulsion B)  Semisolid lubricant

C)  Solid lubricant D) Monograde oil

Ans : (C) Solid lubricant
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The component used to ignite the fuel in petrol engineis
A)  spark plug B)  radiator
C) push rod D)  carburettor
Ans: (A) spark plug
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@033 : (D) #[PTE - 800
The vehicle having rack and pinion type steering gear is
A)  Swaraj Mazda B)  Tata-407
C) Ford D) Maruti- 800
Ans: (D) Maruti - 800
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A stub axleis used for

A)  tightening the bolt B)  opening the nut

C) rotating wheel D) folding the nut

Ans: (C) rotating wheel
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The factor on which rolling resistance of a vehicle depends on
A) slope of the road B)  mass of the vehicle
C) speed of the vehicle D) quality of the road surface
Ans: (D) quality of the road surface
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The device that avoids the flow of current from battery to the alternator is
A)  Cutout unit B)  Spark plug
C)  Voltage regulator D)  Ignition Coil
Ans: (A) Cut out unit
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WIT : (C) A g

The light used for parking purposeis

A)  headlight B)  rearlight

C) sidelight D) foglight

Ans : (C) side light
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The type of engine that is classified based on the arrangement of cylinder
IS

A)  Petrol engine B)  Carburettor engine

C) L-Headengine D) Inline Vertical engine

Ans : (D) Inline Vertical engine
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The tool used to hold the compressor clutch while removing or installing
the centrenut is

A)  universal clutch holder B)  torque wrench
C) tappet wrench D) fly wheel puller
Ans: (A) universal clutch holder
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